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How can you "SM_LE" without "I"?
How can you be "F_NE" without "I"?
How can you "W_SH" without "I"?
How can you be "N_CE" without "[|"?
How can you be a "FR_END" without "I"?
So "I" am very important!
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But how can | achieve "S_CCESS" without "U"?

How can | "LA_GH" without "U"?

How can | drink a"C_P" of tea or coffee without "U"?
How can | enjoy the "S_NSHINE" without "U"?

How can | have "F_N" without "U"?

And that makes "U" more important than "["!

U and | work together to achieve great things...
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FISH (2 117]), OLIVE (22| E), BOWL (&), CARROTS (3) (2 3 7ll), GLASS (R 2| &),
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YAM (L0, FOOT BALL (O] 4] =73 BIRD (M),



e G R Y

DR

Of = A R111

0! R
,o 40 '4
A0\ .'_ 0% 0\

2y

ko

(=]
= X

—r.
4=
I
|
i
-
—
i
-
2g gorETan

= EArE
i L
— ML
II_
I
I
I

—

A 204 Ao 53] g

/=
T

dddddd



